
Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Умножение многочленов

(9x + 6)(6x − 9) (6x − 1)(9x + 3x + 3)2

(2x − 7)(2x + 7x + 7)2 (3 + 9x (9x − 8)2)

(5 + 7x (2x + 6)2) (x + 5)(7x − 7)

(5 + 9x (5x − 3)2) (8x − 7)(5x − 5)2

(7x + x + 1)(2x − 7)2 (9x − 7)(8x − 6)
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Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Умножение многочленов

(9x + 6)(6x − 9)

54x − 45x − 542

(6x − 1)(9x + 3x + 3)2

54x + 9x + 15x − 33 2

(2x − 7)(2x + 7x + 7)2

4x − 35x − 493
(3 + 9x (9x − 8)2)

81x − 72x + 27x − 243 2

(5 + 7x (2x + 6)2)

14x + 42x + 10x + 303 2

(x + 5)(7x − 7)

7x + 28x − 352

(5 + 9x (5x − 3)2)

45x − 27x + 25x − 153 2

(8x − 7)(5x − 5)2

40x − 40x − 35x + 353 2

(7x + x + 1)(2x − 7)2

14x − 47x − 5x − 73 2

(9x − 7)(8x − 6)

72x − 110x + 422
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